@ ¢pa-10%
250, 500 250
(e
[Te)
o
@
4
(@] O
0| O
[aV) N
o
(@] O
[N 0|
— N +— (o] (@]
w0 O
Pyt o
<t O
[SN] 0
o
O
m)]
55 2@300=600 55
45 45
1000
[Te]
LO)|
o ' i o> TE| & | BuER AR | B &R
Al l (mm)| (kg/m | & ] (m) (k g)
: (D D10] 0. 560 3|10.8961] 1,505
o oo i @D ¢4-10% ® |D10]0.560| 3|0.699]|1.174
o ©9 ! o ® | #5 |0.154| 5]2.0701.594
ol m ©| T ©|
o ®©I | o) @ | ¢4 |0.099]|10[0.920]0. 911
o ! a3t ] 5.184kg
L L
< !
] T
LO)]
Ty
g8 IILur—IL |[®BR| 1/20 th | % ® OB |#RB| H4e 82 il
R [ g an 25| 40tk vm|BE| WL T  |TE Eibk
$%| H=1200S |23 | Ly 5B ke |®ZB| ZFREHF |TE2 % %




@D p4-11%
250, | 500 250
N
<t
of NI
NL{)
N
O
(oo
O
e Sl
o &I
O o
m 3
f— le) o
(o]
M~<t
N0 g
Q' o a
)
m)
55 2@300=600 55
45 45
1000
(V!
)|
T | X72Y oy
S b |” :
- 1 g5 & BHAEE A% &K= =R
: (mm)| (kg/m) | (&) | (m) (ke)
o ©9 ! @ ¢4-11% M |p13]0.995| 3[1.212|3.618
g ©9 , 0 ® |D13]0.995]| 3|0.963|2.875
o @9 ] ©
Z e | o @ | ¢6 J0.222] 5]2,270]2.520
o ! @ | ¢4 ]0.000]11]|0.9201.002
“ : a8t HARE® 10, 015kg
h I
¥
Te)
)

8| IILUr—II |®R| 172 th mo | ® B B #RA | Hiae 80 2 B aay
& 5 [ 8 i L3 2E| 48t v |BE| B® WL A TE1 R
+#%| H=1300S |%%| Ly &8 ke |&R@B| ZRmE |TE2 # %




@D ¢a-12%
250, | 500 250
5 |
<H
S
%‘EI
<
[aV]
T O
O
b o
o N<
o @I
< N
R o) o)
OO
N
alwn g
<%Ii Ooor N o
- ® 4 ‘
™ T
@ 55 2@300=600 55
45 45
1000
0|
[Te)
o+— H " ™
i ' ' RE| & | BUER [AK| E= BN
: (mm)| (kg/m) | (k) (m) (kg)
o oo I @ ¢a-12% M |p13]o0.995] 3|1.212[3.618
o 22 ! © @ |p13]o0.995] 3]|0.963|2,.875
o el ! s ® | ¢6 |0.222| 5| 2.370]2.631
o | @ | ¢4 |0.090]12]0.920[1.0093
" i o KHEBEE  10. 217kg
hl I ’
T
[Tp)
0|
No. 2% SILms—L |[®BR| 172 t W | #R| B BE |RB| Hes R
a8 & X | An 2%| soske( tm|®E®| B LT |TE Bk
+%| H=1400S |E&| L kg kg | A& 3 R ®ET |TE2 % %




@ ¢6-13%
250i 500 250
O
[0
[(e]
1]
O O
m) O
[V} (o)}
9
)]
o R
o o
(D =
e 3 +— o 0
QO
O O
— M o
gll Pt
N
o
o
o
0|
@ 50 2@300=600 0
150 50
35/|230] 3@245=735 [235] (65 1000
1300
O]
)
¢ : ?o <
© { fo RS & | EMER A% == =B
} (mm)] (kg/m) | (X) (m) (kg)
o oo | @ ¢6-13% @D |D16]|1.560] 3|1.559| 7.296
o 99 : o @ |p16|1.560]| 3|1.232] 5.766
o el ! ke ® |D10[0.560]| 5|2.740| 7.672
o | @ | #6 |0.222 |13 0.930]| 2. 684
o I &t HAHRER 23, 418kg
o !
T T
O
[Te)
No Z SILTF—=I |BR| 1/20 * & m’ & ® ®m B E *EE | Hi4 8 2 Riady
&8 e X ¥ an 22| 683k vm|®E| B LT |TE! Bk
$%| H=1600S |2} | Ly &8 ke |EZRB| Z®m i |TE2 # =




59 500 1000 500
35| |25
A ® 3. 2-6;
wn
<
ol @ Q 5"155 ol
Q 1 O
— |
a2 @ 2-8 — o o
O 8_ ol
Slet— | 33 io o
1 i «©
[t9) nt 1
3@120 30120
@ J@s @ 75) | =360 6@140=840 =360| |75
45 45
35 !250|25o, 85 2000
80
700
{te]
~ p— oS # BHEE A% k< EE
|r o (mm) | (kg/m) | (&) (m) (kg)
~ ! ® |5 |0.150]15]1.130]|2.542
57 ® @ $3. 2[0. 063 | 8| 0. 122 ]| 0.061
™ $3. 2-6%K ® lp3.2[0.063] 6]|1.880]0. 711
< | & & BMBES 3.314ke
- |
1
ol I
~t| |
of @ ] e
o X ! 0
NI g 2
9 |
©| t
T
!
[Te) T
i 1
o !
~ ©f :
— (M)
® I }
@ I
i —_ 1
[T9) o™N
~
No gH| SLOa—JL |®WR| 1/20 th ol EB| Bwamx  |#ms| waes R
N L - 3, — =2 .- = 2
A fic B X B Ao $E sso gl vm|B®E TR ®Ea|TE Bk
+ & H=600S 28 L 22 ke | & B TE2 %




50 500 1000 500
35| 25
pr ® 4 4-5
wn
©
o @ 6—-15 °
- =)
4 <
(@]
Ol
NI @4 4-8 +— 0 o
o (@]
0
2let— =S4t o
i i ©
[} ot f
P - 3@120 3@120
65 75 | =360 6@140=840 =360 |75
45 45
35| 300 | 300 | |6° 2000
700
| & | #nEe (2% R E B
(mm) | (kg/m) | (&) (m) (kg)
o D ¢6 [o.222[15[1.230]4, 096
~ — ® | 4 | 0.000| 8] 0.122]0.007
} o™ ® | ¢4 [0.000| 6|1.880][1.117
o Qg |
o~ © : & &t BKHRESE 5.310kg
4 K ¢ _4-6%
uy’ T
I
. ]
]
o T
< !
g 4l 5
N | 2
9 i
© |
|
S
=
N ) T
-~ M |
® | ;
™ !
T —
o ! —fol
~
No % TIILo4 = wmR| 1/20 * & m 1 7 o 34 T E®B | H1310 5 ﬁﬁ'ﬂ?f*
- v % , — o -
g Bc #h X ¥ LLY 2E| v um|BE ZR®/iT|TE Rtk
+ % H=700S 28 Ly 2% kg | & ® TE2 %




60

60 500 1000 500
3s| 25
LIS @ ¢ 4-6
[Te]
(D —
. ® ¢ 6-15%
O
(o] H O
[§\| O
O 1 [Te!
[w] O
9o @ ¢ a-8 — o o
o o g
2 u(g_!_ Nt o o)
e t ot lo
™ ™ 3@120 3@120
1| |65 75| | =360 6@140=840 =360/ |75
45 45
35| 325 | 325 | |6° 2000
750
~ o we| & | BuEE K| &= | EE
I N (mm) | (kg/m) [ (X) (m) (kg)
od { M| ¢6 |0. 222 |15]| 1. 380 | 4. 595
— o) r ® | ¢4 [ 0. 099 8|0.122]0.097
ol ® 4 a-6x% @ | ¢4 |0.099] 6| 1.8801.117
o 1 & & BHmREE 5. 809kg
. i
|
= |
3 :
= o
O H [o)
3 |l 2
|
CHi
T
!
uwy i
il i
oo i
~ © :
— m
@1 :
® I
I _—im
7o) [s\}
™~
No. e S s—JL |mRr| 1/20 * 7 o 7ol 3T |EEB| H13e100 5 et
AR A X g omn 22 4sow v |BE| Zm®mF O |TE Bk
<+ % H=800S 28 Ly 2t ke | &R B §TE 2 %




309 250, 500 . 500 _| 500 _250
; | | | |
o
™ ol
7 (@]
O ~t|
)|
o « o o o) o) o)
O 3
o n o
O O
o < Q9
® [te!
[a¥}
o
p=s 2@300 2@200 2@300
55 =600 =400 =600 55
45 45
2000
?; £ # BNEE |A¥| R g8
- : t Lo (mm)| (kg/m) | (&) (m) (kg)
< I o @M [p10{0.560| 5 | 0.858(2,402
- : @ |p10{0.560] 5 | 0.699]1.957
I ® | ¢5 {0.154 | 9 | 1.620]2, 245
priy I Do 4-ox @ | ¢4 | 0.099 | 9 |1.920 1. 711
|
P I 8 & HHBEE  8.315ke
~ i
1
!
|
g e | 3
O %T{ T o
oS : —
|
[
o O |
O O] |
m ©| t
@ I i
ol |
|
|
[Te] +
~ ! i
- — [o—to
7o} il [aN}
uwy
2Hl ILox— |®R| 1/20 th no | B B3 T [ERE| Hise0e s il
. v % _ P
8 B M X g | an 25| 590k vm|BB| Z=®®m&G |TE! =Bk
T H=900S 28 Iny 2E ke |&® TE2 =




20 4-9
30|9 250, 500 __ 500 | 500 _250
° | |
n
o
™ o
o o
1 10
o @
9 o o o o} o o)
o |
‘—LOO
P ol
PEAVERS ¥ O
[N} [Te!
[aN}
e 2@300 2@200 2@300
@ 55 =600 =400 =600 55
45 45
2000
we| & | BuEe [x%] E = 8
0 (mm) | (ke/m) | (@& (m) (kg)
L . f—t© M [p1o[0.560] 5 [0.896|2.509
o ; o [ @ |p10[0.560] 5 [0.699[1.957
S I ® | ¢5 |0.154 | 9 | 1.720 ]| 2. 384
| @ @ | 64 [0.000 [ 0 [1.920 1. 711
29 i o A-9K B BHREE 8. 561ke
™ ©f l
ol ;
N |
|
1
|
g 9 |l 2
gy I 3
N B ; —]
|
|
o O I
O O ]
m ©| +
[©N] |
] |
|
!
LY T
hl E fi
— | lo—t©
e} v N
e}
No. & iz - mR| 1/20 B PR 7 W3 s fERB | HI3-10+ 5 Bady
S . P _ P -
8 i B X B f LL 25| ot vm|BE IR RGO |UE Rl%
$+#%| H=1000S |23 | Iy 2B kg | & 3 TE2 %




250, 500 500 .| 500 250
2 | | | |
[Te}
p~
04
2 o
« Q
(@ O
[ foe]
Y R o) o) o) o
n O
o 3
o ° o
™ R TIN
=t
= @ 2@300 |2@200| 2@300
1 263 55 =600 =400 =600 55
@260 145 45
30 =520 |25o! 20 2000
750
1000
g TS| # BUSE |A%| K< B g
r n F— (mm) | (kg/m) | (&) (m) (kg)
s i —fo |7 @M |D10|0. 560 5/0.896]2.500
- { @ |p10][0.560| 5|0.699[1.857
I ® | ¢5|0.154| 9]1.970] 2,730
S8 : Do a-10% @ | ¢4 | 0.000 10| 1.920 | 1.901
o : 5 & GHBEE 9. 007kg
~ {
|
|
|
g e |l :
381 |n 2
o3 { —]
|
I
O O [
[oNe) }
M © +
@ | |
(] I
?
Yol +
<t | | :'-D
5 ] Tt C‘T_)
n
2| SILYr—I |®R| 1/20 th B m | R| @ W #RE | HI3:10- 5 i
S & B i an 2L 74 vm | BB R ®F|TE R
$#| H=1100S |¥8| Iy 28 ke | & =& TE2 i %




@ ¢ s-10%

20
30|9 250, 500 . 500 _| 500 250
2 | | | |
[To}
o
© LaXi
-l ©
T
O i O
Yo O
[aV} N
o
O O
o 0|
- o +— o) o o) o
0 O
O O
o F
<t (o]
" =ts
o 2@300 2@200 2@300
@ @ 55 geoo 2400 gsoo 55
50 45 45
2000
n
Lo —
2] ; i ™
<t | 7o
- | Ze] & | BuEE |£%| k2 B
| (mm) | (kg/m) | (&) (m) (k g)
Pt f Do 4-10% M |D10] 0. 560 | 50,696 | 2. 500
™ © i ®|D10|0.560]| 65|0.699]|1.957
I . . -
M : ® | #5 |0.154| 9]2.070]2.869
! @ | ¢4 | 0.099]|10}1.920]1.901
od i &t UEBEE 9, 236kg
= | 0|
[=! | )|
ol 87{ T o)
o : —
i
|
o o |
O O ]
™M O] 1
@ | |
[ |
|
|
[Tel w ;
<t
= |l —to |
T l s 0
o]
No. 2| SILYvax—I |WMR| 1/20 t wo | EB| B W @A ]| 3100 5 gy
. . Y _ . -
# 8 B B X B fi LY 25| 80tk vm|BE TR R |TE Rl
+%| H=1200S8 |38 L 25 ke | & R T2 # =




83|8 250, 500 500 .| 500 250
: | | | |
<r
S S
o
|
OO o
m o
[aVR Ny
o &I
Oof o
o -
7 — o o o o
O O
~
N% =
g g 10
o 2@300 2@200 2@300
o 55 =600 =400 =600 55
25 45
2000
1100
wn
0 T ¥ 0
v ; " 1“’) (3]
Al l T2 & | BuEk [A%| &= )
| mm | (kg/m | @ (m) (kg)
= ! ®@¢ a-11% @ |D13]0.905| 5]1.212 6. 030
oo ' @ [D13] 0. 995 | 5]0.963 | 4. 701
e : @[ g6 0. 222 912, 270]4.535
: @ | ¢4 |0, 099 [11]1,920] 2, 091
: a5t HHMER 17.447kg
o [oN e 1 ol
o O O] | o
o el i o
o3 : —]
|
O O :
O O |
m © t
[SM} |
[N} |
|
!
[fe} T
<~ ! fio
- ! 4—}@—(’{3
[fe}
28| Sz —JL |[®R| 1/20 t o (B B WL EE | #1310+ 5 Rt
'R BC A L an 22| 961 et v |8 ® TR BT |TET| e 2 1Rk
+%| H=1300S |2%| Ly b8 ke |& B TE2 %




@ 4 a-12%

20
33|8 250, 500 ] 500 i 500 i250
p~
o0
X O
Q)
o =
o] o
of @I
< ™
] — o o o o
[oNe
~ <]
[aViTo] O
® O
N o 0]
. 0')* f.
m e
2@300 2@200 2@300
® 55 =600 =400 =600 55
45 45
2000
wny
D | - ™
> T | m
< ! o
10
oo | @¢ 4-12% Re| & | BUER |AK]| & & E B
°9 I (mm) | (kg/m | @& | (m) (kg)
® 1 ! @ [p13]o.995] 5]1.212]6.030
o | ® |Dp13]0.995| 5]0,963]4, 791
! ® | 66 |0.222] 9] 2.370]4.735
o ©9 } ° @ [ ¢4 [0.009 12| 1,020 2, 281
o Q9 ! P &5 WHEBER  17.837kg
O ) [e)]
o @ 1 —
O |
|
O O 1
O O |
m © t
(&} |
o i
|
!
wy i
< i
. : fo—po
W m
wn
No. & TLTFr - WR| 1/20 * & m’ 1 # L 3A 3 #%EAE| #3104 5 ﬁﬁ’ﬁ’;"*
&8 5 N g an 2% 1016kl M| BRE| T EE AT |TE| K82 i
+%| H=1400S |2%| Ly 58 kg | & R TE2 =




@D 4 a-12%

250 500 . 500 ,/500 250
O
(@]
(o]
O —
O
Te;
-‘" T o o] [¢] [o]
O
O
10|
2@300 2@300
55 =600 =600 55
145 2@200 145
=400
2000
o RE] & | BuER [AK| &= ER
0 o (mm) | (kg/m) | &) | (m) (kg)
iR T ;; ™ @ |b13]0.995]| 5]1.212]6.030
= ; ® |p13]0.995]| 5] 0,963 |4, 791
29 } @ 4-12% ® | ¢6 |0.222] 9[2.520][6.035
oa , @ | ¢4 [0.099 |12 1.920] 2. 281
~ | 25 “HMEE 18, 137kg
255 | :
NEAL I 9
o Il
O O :
O O |
m © T
® 1 |
o I
< i }ln ©
o P o
[Te)
2 i TILox =)L R 1730 & & m® % X 7o 33 B | Hi3+100 5 ﬁﬁ’?ﬁ'—
w8 T ¥ | oo 25| 1087l v |BE| Zx®F|OET R
+%| H=1500S |2d¥| Ly 5B ke |&R i 2 # %




120

@D16-54

35

35|85
9]
[¥)
o @D10-94
3
g
[se]
S
o
g8 o 30  @D16-5K
— §7
S
5%
N
- I
g = N
Lo
o~

240

351230 | 3@245=735

35

1300

e

@ ¢6-134

500 250

900

700

2@300=600 |150

50

S @ ¢ 6-13&
g
g .
E7N:n]
olgs o £ HEER | A% | B & EE
S| &% > il ke/m | (X | m ke)
N - [O) 1. 560 5 1.559 12. 160
=] @) 1. 560 5 1.232 9.610
ﬁ [©) 0. 560 9 2.740 13. 810
é @ 0.222 13 1.930 5.570
o - &5t HEGRER 41.150kg
3 [ 3y
. - 4‘7——
o f =
- . i = = =
27 YA —I BRI (R 1/30 (EETE 30 Hah | KaE
A=t
M| | SA 4 7 H=1600 L=2000 0 = 30N/mm? IR | K% B




120 @D ¢ 6-15%
358 250 500 , 500 ,/500 250
1
')
-
~N
o
[TolTe) O
A O
N @) A
® I 7
O
OO'J
[o8}
T E — o o o o
O O
o ©
— M O
(S| Ol
N o7 ~
m
[aV)
o 2@300 2@300
| 50 =600 =600 |50
P4 245 150 2@300 150
35 | 4@245=980 45 =400
230 210
500 2000
o
o @
(@) T L Ken)
w0 1 T iS| & | BuEs |4%| &= E 8
oo | (mm) | (kg/m) | (K) (m) (ke)
6-15
©9 i @ o-15% M [D16]|1.560| 5| 1.634 12,745
@I | @ |D16[1.560]| 5|1.232] 9.610
g'o | ® |p10[0.560] 93, 160]15,926
S oo i 3 @ | #6 [0.222 [15]1.930 ] 6.427
Il
o el | o & &t BHREE 44, 708kg
J e ! 2
N
O O }
O O |
™ ©f ‘
@ | |
o~ |
. |
n i 1o
= {L() —
o <
wn
No. tH| SLYx—I |[BR| 1/30 t® o |#®| ®WL LT |[#EE| W0 T
'8 B & X L LLE 22| 1sarel v | BB TR RIT STE1 RU%E
$#| H=1800S |2&| Ly 28 kg | & B TE2 # %




120 @ 4 6-15%

358 250 500 , 500 ,|500 250
n
T9)
g3l
o N
| ™~
K o
- [
o~ Q)
S -
3 =
(o)}
—O O
< Q| 4+ [*) [¢] [¢] o
N 1|
X
(] (e
O
o~—u=r]——— ~
m|
o [aX]
© 2@300 2@300
I 50 =600 =600 50
o4 5 150 20200 150
35 \4@24O=9602 1165 =400
230 10
1500 2000
° £s| & | BuEe 5% & EE
(ss]
e &t (mm) | (kg/m) | (k) (m) (ke)
© | o Y @ [p16]1.560| 5[1.634 12,745
== | @e 6-15% ®|D16]1.560| 5|1.232| 9.610
o of I @ [D10]0.560] 9]3.240](16.330
ol , @[ ¢6 |0.222]15]1.930] 6.427
oo ; X BHBEE  45. 112ke
g co | hd
387 | >
o J | -
O O :
O O |
™ O T
@ I |
N |
o .
© ! ! ©
= o}
wn
2H| ILVvx - |[BR| 1/30 th no B B W {EB8 | Hiz:10- 5 4
R B 7 X ¥ f LLE 2% 1598k v | BB TR EH|TE? 1R
3 — & &t T- &% B & =
T_";i\t H‘WQOOS %f* i&” ig kS %W{.’A ?]EZ ﬁ %




120 @ 4 6-15%
358 250 500 . 500 [500 250
w
w
<
o
oy
S ol
g s
- o
o | 7
O O
O <t
[ sV
®
| S [¢] [+ [¢] [s]
O
O
S "
[aVE S a ]
i 2@300 2@300
@ 50 =600 =800 50
P4 2 150 2@200 150
35 '4@240=960é |65 =400
530 10
1500 2000
o
(Te}
o ; — 3 wS| & | BuER %] k& iR
L : ' (mm) | (kg/m) | & [ (m) (kg)
33 | @g 6-15% @M |Dp16}1.560] 5[1.634[12.745
®© ! @ |Di6|1.560| 5| 1.232| 9.610
e ! ®|Di0[0.560| 9[3.340[16.834
ol ©© ; o @ ¢6 [0.222115]1,930]| 6,427
o Q9 } = &5 BHREEE 45, 616kg
J e | o
[N 1 N
O O :
Q O |
m O T
(S| 1
N |
o T
[T} | 1o
= —— o
o <
wn
No. 2H| ILTr—IL [®R| 1/30 t* 7 wo | o3 EBIE | HI3-10- 5 wEnh
28 i B X g | omn 25| 106500 v |k ® SR ® AT |TET Bk
$#%| H=2000S |¥d| Ly R kg | & ® TiE2 % %




